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QUESTION 1

You need to use an SAP ERP standard DataSource to load data into SAP BW/4HANA.

Which prerequisite must be fulfilled to use the DataSource in the Operational Data Provisioning context?
A. It must exist in table ROOSATTR.

B. It must be delta-enabled.

C. It must be in-memory-optimized.

D. It must have a queue entry in transaction ODQMON.

Correct Answer: A

QUESTION 2

You need to combine master data (right table) and transactional data (left table) using a referential join. How will this
referential join behave?

A. It is executed as an inner join when NO fields from the right table are requested.

B. It always returns all fields from the right table as a result data set.

C. Itis executed as an inner join when a description mapping is defined between the left table and the u right table.
D. It returns a result data set if the left table has a corresponding entry on the right table.

Correct Answer: D

QUESTION 3

Which objects of an SAP HANA calculation view of DIMENSION data category can you re-use if you define an SAP
calculation view of CUBE data category with star join? Note: There are 2 correct answers to this question.

A. Aggregation method
B. Hierarchy assignment
C. Attribute assignment
D. Measure assignment

Correct Answer: CD

QUESTION 4

Which condition must you ensure if you want to replicate data based on a view with SAP Landscape Transformation
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Replication Server?

A. View-based data result sets must be kept persistent first until data replication can take place.

B. An SAP HANA source system must be defined to consume the view.

C. Each table of the view requires a defined trigger to enable data replication.

D. One table as part of the view has to be defined as primary table and is used to trigger data replication.

Correct Answer: B

QUESTION 5

You use the wizard to create an SAP BW/4HANA Big Data source system. Which activities are mandatory? Note: There
are 3 correct answers to this question.

A. Specify connection type Big Data.
B. Select a database object schema.
C. Specify business content type.

D. Specify release type.

E. Select a remote source.

Correct Answer:. ABE
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